Q = &2 7|8 EH06-222)

SHR[AFAS (F&7(7t 20243 06 11 17A| ~ 06 122 17A])
oo !I'0°0
AHQIQ F |2
[202414 062 11 17A| 2HE ] Sa0EH: Zd

- 1 HE N2 BS, M-S Al oHl et -

> X3 B 71N g

O AMA7AD, H= 80| =2 78 0| 2 7126, AZ2 d= 30| 10km 0|¢S E0|11 YFL|Cf.
O 2112 M3l Fal ol ¢{XIet 17|22 | PSR =0 7 % Ziﬁ'—llif

O Lgazeg)2 A

—_

> S 2 2E IYEE

O HIEY 2¢) UL AEH~0, MFSSoME BICRPI2, FYSe2 SHE22 Q6| HIFd 2 7H580| AL SSAH|
= 07 E =QISHA|7| BIEILICE O 2| T2 HI8Y 7tsd RASHC

O (S LIEA2E) MHFE OFH Ao 872 SE2= AIF0| 2km L{2|2 FOIX|ZIL, 1= 500ft L{Q|Z KOt
7t AZELICE

ot

O (dz23e) Y12 MEFH AFH0| 2~4kmO|5t2 BOFX| 1 LN = 1000ft O|St2 SHORX|ZiE LTt FEgh Lf(12¢) 2
BANO= gF2 BHREIH50E 0|2 52 ACRE Ofl¢fk(L, SEAlE 230 FHISHA[Z| HHEFLIC.

O (MFS<) L Y(12%) AHE(00A)FE OFE(7A) AOJofl HECt QR 7F R 4| HA A[FHO| 800m LH2|= ZOLX| 1, FELEE
200ft LY Q|2 WOFR! 7HsA0| Q&LCh

O (Fet3d) 25(112) S E LHY12Y) OFE7EX| A|7H0| 5km 0|2t 2 FHOLX| & LICh £5], LY MEHo= A[FH0] 1,500m LY
Q2 M2 WAL, FEALEE 500ft 0|2t = HASL T

O (E4ae) Y1y) faet 252 HHREI 58 A2 ofdE(L, S&Ad 230 jtF_'*H\|7| BFEFLICH

O (Y3 U122 MB0| EoS= 15~20kt, XL 7HES 25~30kt 2 Ch ot 2201, 5 Blgtof oot 530 &
A 7+s g0l AL, LI L(12Y) L*Eo*g*xi BH2EIL S ZdEE Ol dElL], SEAE 29 01I 15P7| HELICE

O O+3¢) UE128) RSt &2 EHREI 55 A2R OdEL, SEAE 230 H2ot7| BiELIC

O FAte

X Sl U+ 85 35 ZSEF A, fF 32 7I¢0 2= &57|4E FelH(https//amokmagokn) SSEM (T
T O-ZE 4 #F ME[2)0|M =HQISHA|Z| HEZLICE.




